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LABJNDu6-Dreieckshelligkeit fiir Farben mit T*=-301
T*LABINDU6=A2n[IN[(A 1ntA2nY)V/A 2q] (Yn/100<Y<=Y,)
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LABJNDu6-Dreieckshelligkeit fur Farben mit T*,=-301
T*L ABINDUG =A2n[IN[(A 1n+A2nY)l/A 2n] (Ya/100<Y<=Y;)
T*90-T*u=199,23, fakj=0,1000, A0=0,1000, AOD65=0,6
T*18-T*u=-0,00, AOn= 0,666, Aln=0 A, ‘!n 0,004
T*04-T*u=-147,72
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T*LaBINDu6 =A2n[IN[(A 17+A2,Y)l/A 0] (Yy/100<Y<=Y,)
Relative LABJNDu6-Normfarbwertdifferenz
(AdYY(dY)=Aonl(A 1ntA2nY)/A2nll (dY),
dY*90/dYu=4,43, fakj=0,1000, A0=0,1000, AOD65=0,6H
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T*LaBINDu6 =A2n[IN[(A 17+A2,Y)l/A 0] (Y,/100<Y<=Y,)
Relative LABJNDu6-Normfarbwertempfindlichkeit
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